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A set of guidelines called a model code of
conduct is enforced during Parliamentary
elections in India to avert corrupt practices. 11ns
isappliedto ol

political partics only

, political parties and voters
political parties and candidates
candidates contesting elections only

Ead gl o

A country has the ultimate rights and power to
make decisions on internal and external matters.
Also it is not dictated by any external power on
its decisions relating to its relation with other
coun

Which fcamm is reflected in thwe statements?

5 Republic

2. Socialism

3. Sovereignty
4. Authoritarian

Anti-defection law is an important feature of
Indian party system. The final authority to decide
on the - disqualification of a member of the
Parliament with respect to anti-defection lies with
the .

1. President

2. Prime Minister

3. Chief Justice the Supreme Court of lndla
4

Speaker of the Lok Sabha or the Chairman
of the Rajya Sabha

Which of the following statements exemplify the
independence of judncmry in India?

1. Judiciary is not under the control of

executive and legislature.

I, “There is less scope for interference in the
working of judiciary by the political
executive,

1. A judge of higher judiciary can be removed -

only through a resolution which requires
2/3rd majority of both the houses of
parliament.

Choose the correct option.

Land [l

iand I

I Hand Il

I and 111

nadt ol o
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5. Rajya Sabha is also called the upper house, elders
» hous¢ and permanent house. Which of the
statement/s given below is/are true about it? .
. Rajya Sabha has . more power related to
financial matters.
. Rajya Sabha members continue to be in
office till the next general efection.

II. Resolution for removing the Vice
President and the President originates in
Rajya Sabha,

IV. Number of seats allotted 1o a state in the
Rajya Sabha is directly proportionate to its

popuiation.
I Llland NI ~
2. liland 1V
3. landIV
4. 1Vonly

6. In the context of Indian elections, the parties
which fail to gain majority in the Parliament play
the role of opposition. Consider the following
statements and choose which statement/s is/are is
NOT true. .

I Opposition parties in India play an importani
role in building public opinion.

I Opposition parties are not constitutionally
recognized.

Il Opposition immediately assumes power of
government, if the majority party loses its
vote of confidence in the Parliament.

IV. Opposition parties keep a close check on the

“activitiés of the government.

. land Il only
2. Hand IHf only
3. ionly

4. IV only

7. Consider the following statements :
: Statement I: All countries that are democratic
have written constitution,
Statement Il: All countries that have written
constitution are not necessarily democratic,
Which of the above statement/s isare correct?

Lonly

Il only

Both | and 11
Neither [ nor 11

B —
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8.

China exports a toy to India at ¥ 150, whereas the
same toy-is manufactured and available i India
for ¥ 250. When China continues to export this
toy to India, this trade practice is known

as

dumping

expost promotion
import substitution
export subsidisation

B W —

Shruti and Gautami were discussing about India’s
GDP and Kerala's SDP. Some of the observations

made were: .
I. Kerala’s per capita SDP is India’s GDP

divided by Kerala’s population in a
particular year-

“ Il Since Kerala has best literacy rate and

excellent quality of life indices, it must have
the highest SDP.

IIL In a federal structure if we know all the
SDPs we can have a fair idea of how big
India’s GDP will be in that year.

1V. Kerala's per capita SDP in a particular year
is the value of all final goods and services
produced by the Kerala state in that year
divided by Kerala’s population in that year.

Which of the above statements are correct?

Tand HI

If and I
ITand IV

I 11, and 1V
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10. Shehnaaz joined a coaching institute for a
* professional course. At the time of joining the

course, she paid a fump sum fee for the entire
course of two years. However, she did not find
the quality of teaching satisfactory and decided 10
quit after one year. When she asked for a refund
of the fee for one year, she was refused. Which of
the " following right/s of Shehnaaz  wasiwere
violated?
I Right to choose
Il Right to represent
NI Right to be informed
IV. Right to seek redressal

Only |
land IV
{Land IV
Only IV

11 Which of the following reflects situation where a
person is employed but do not contribute in
adding to the total product?

I Open unemployment

Il Disguised unemployment
11, Scasonal unemployment
IV. Frictional unemployment

b Tand I

2. Onlylt

3. Hland v
4. Onlylv

12. There are 100 households in the village of
Awangkhul, of which the loan taken by 20
households arc from the State Bank of India,
another 20 households from their friends and
relatives, 5 households from Indian Bank, 10
households from a Regional Rural Bank, 15
households from businessmen, 10 houscholds
from village headmen and 20 households from
cooperative societies. Which of the following
inference (s) is/are correct? .
L Formal sources of credit are lower than the
others, -

Il Institutional sources of credit are higher than
others,

11 Non-institutional sources of credit are higher
than others. - :

IV. Informal sources of credit are slightly higher
than others,

BN -

Only |
Fand i
Only It
Hiand 1V

ot ol ol
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food security?
1. Landless ‘people

insecurity. » Y

I1. Those who do not have enough nutritious
food are food insecure.

I, Those who have enough food but not the
requisite nutrition are food secure. ‘

IV. Those who do not have enough purchasing
power to buy sufficient food are food
insecure.

1. landHI
2. landlV
3. Handil}
4, Mand IV

always have food

1;;‘ Siddhik issues a cheque of 19,000 in favour of
" Hanush.

What happens when m;cd cheque is

received _— and proces: in
h's bank' )
Han“'f'h:re is no change in their bank accounts

il. Both their bank balances increase by
~ 219,000

. Siddhik’s bank balance decreases by

. g‘I‘),O(')O and Hanush's tbamk balance
increases by the same amount. .

V. "I"‘l?ere is )X’IO change in Siddhik’s bank

balance although Hanush’s bank balance

i se' . . .

Basejegia:t‘\éma'::ve statements which option is

correct?

I. Onlyl

2. landIil
3. Onlylll
4. Il and IV

. 15, The daily wage of a person in rural area is

T 180. Arrange the following houscholds in
descending order of vulnerability to poverty.

Name of the | Person | Size of the | Working

Household | -days | Houschold | member
of s of the

employ family
ment

Ruldoo 14 4 2

Mulkha 15 7 2

Fakira 10 5 4

Preeto 12 6 3

l. Precto > Mulkha> Fakira > Ruldoo
2. Mulkha > Preeto > Ruldoo > Fakira
3. Mulkha > Ruldoo > Preeto > Fakira
4. Ruldoo > Fakira > Mulkha > Preeto
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16.

17.

"l‘he following graph shows the distribution of
» mean monthly temperature and average rainfall of
a particular city during the year.

al
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Which one of the followmg cities shows the QWWW&&W&M
- climatic conditions presented in the above graph? Aires' O g Dd0eed.
1. Nagpur 1. ~>6y6
2. Chennai 2. @y
3. Jodhpur 3. &858
4. Bengaluru’ 4. Bervrdd

The average mean.monthly temperatures of four
stations are given in the following table. The
temperature is influenced by the movements of

17. &1 308 DRIS" e HATVD RowodedS ded

it effgoen LB ddo 2oMH. & alffocs

land and sea b s, Dag ‘969 dDSTY  dodd
IO oo,
-Months/ deen
Average Mean Monthly Temperature (af'gae afes p8abbed’) -

Stations | JAN FEB: | MAR | APR | MAY | JUN | JUL | AUG | SEP | OCT | NOV | DEC
A 4.4 16.7 293 [30.0 B33 333|300 294 289 |256 | 194 15.6
B 16.8 19.2 266 |29.8 B33 339 |31.3 [29.0 20.1 [ 27.0 [20.1 14.9
C 24.5 257 277 1304 P30 325 (310 (302 29.8 }28.0 |259 24.7
D 218 239 283 4327 BsS5- [320 277 |273 279 1267 [ 234 20.7
Which one of these stations experiences & pdeud’ D0 wrlty, VAVFIBY DITUD
maximum moderating influence of the land and Doarioy g.o,,é-'ga,gggoa?
sea breezes? )
I. A . A
2. B 2. B
3, C 3. C
4. D 4. D
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18. Observe the data given in the following table.

19.

City Female Male Sex-
Literacy Literacy | Ratio
Rate (%) | Rate(%)
A 6677 8538 960
B | 7116 8267 | 980
C 73.78 77.17 989
D 59.26 79.24 972

Based on the above table, identify the city which
has the extent of equality between male and
female better than the rest in terms of the given
parameters?

A

& e o=

B
C
D

Ruhani observes sequential change in relation to
altitudinal zones and natural vegetation types
dominated by oak-chestnul; pme—deodar and
sitver fir-birch.

Identify the proper sequence of vegetation type
she has observed from the following.

1. Alpine to Temperate to Subtropical
2. Subtropical to Temperate to Alpine
3. Subtropical to Alpine to Temperate
4. T'emperate to Aipine to Subtropical
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20. Observe the map givén below.

Identify the shaded regions  with  their

’

2. & 305 0679y ©098octod.

corresponding geographical features and select
the correct option using the codes given below.

L.

A = Zone of laterite soil, B = Coffee
producing area, C = Cotton textile
industries, D = Evergreen forest coyer

A = Evergreen forest cover, B = Coffee
producing area, C = Zone of laterite soil,
D = Cotton textile industries

A = Evergreen forest cover, B = Zone of
laterite soil, C = Coffee producing area,
D= Cotton textile industrics '

A = Cotton textile industries, B = Coffee
prodlfcmg area, C = Zone of faterite soil,
D = Evergreen forest cover
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21. Which of the following geological sequence

properly matches the tectonic events from oid o
recenttime periods?

1.

Py
A

i

Formation of Aravalli - Deccan volcanism -
formation of Shiwalik -upliftment of Himadri
Deccan volcanism - Formation of Aravalli -
Upliftment of Himadri- formation of
Shiwalik,

. Deccan volcanism - Formation of Shiwalik -

- Upliftment of Himadri - formation of Aravalli

. Formation of Aravalli- Deccan volcanism -

uplifiment of Himadri- formation of Shiwalik.

22, The given map shows location of different
mountain peaks in India,

A mountaineer wants to scale the mountain peaks

in Peninsular India starting from North to South.

Identify the correct sequence of peaks the

mountaineer will follow?

1.

A = Mahendragiri;, B =
C = Dodabetta; D = Mahabaleshwar.

C = Mahendragiri; D = Anaimudi.
A = Anpaimudi; B =
C = Dodabetta; D = Mahabaleshwar,
A= Mahendragiri; B=
C= Dodabetta; D= Anaimudi,
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Anaimudi;
A = Dodabetta; B = Mahabaleshwar;
Mahendragiri;

Mahabaleshwar;
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23. While teaching a topic on agriculture, geography

24

25

26.

- teacher had made the following statement about a
particular crop in her class,
“Mean Monthly Temperature of about 27°C,
high relative humidity, rainfall of 150 em in
summer months and khaddar soils are the ideal
physical requirements during the period of its
vegetative growth, * )
Which one of the following crops was stated by
the teacher?

I. Tea

2. Jute

3. Rubber

4. Sugarcanc

Bibhuti was travelling to study the traditional
agricultural practices among various communitics
in Meghalaya, Jharkhand, Odisha and Western
Ghats,

Identify the correct sequence of forms of
cultivation practised in these regions,

1. Jhumming - Kumari - Pama Dabi - Kuruwa
2. Kuruwa - Pama Dabi - Jhumming - Kumari
3. Jhumming -Kuruwa - Pama Dabi - Kumari
4. Pama Dabi - Kumari - Jhumming - Kuruwa
River Indus flows through Leh and Kargil
districts in the state of Jammu and Kashmir. Jt has
four major tributaries in India. Which one of the
following is the correct sequence of the tributaries
arranged from East to West in terms of their
confluence with river Indus.

1. Zaskar - Dras - Hunza — Shyok

2. Zaskar - Hunza - Dras - Shyok

3. " Hunza - Dras -Zaskar - Shyok

4. Zaskar- Dras - Shyok — Hunza

A tourist was travelling Indian States and came
across a famous Buddhist Monastery, Sfarming of
three rice crops within the same agricultural
year, a cement factory and floating gardens on a
lake, ldentify the proper sequence of the States
the tourist travelled, ‘

I. Sikkim - West Bengal - Assam - Meghalaya

2. Sikkim - Arunachal Pradesh - Assam. -
Manipur ‘

3. Arunachal Pradesh - Assam - Meghalaya -
Manipur

4. Arunachal Pradesh - West Bengal - Manipur
- Meghalaya

10
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27. Observe the following diagrams carefully

27. 308 Do EST HODoSoR.

I

Which one of the above population pyramids is
an ideal representation of India's population?

I
1l
1
v

’

A

Which of the following statements regarding
printing in Medicval Europe are correct?

L. Wood block printing reached Europe in the
13" Century.

" 1L The aristocrats and monks criticized printed

books as cheap vulgarities in the beginning.

NI, Printing did not entirely displace the art of
producing books by hand.

IV. Martin Luther had reservations against
printing of books.

I, and [1I
I, Hiand IV
I, tland IV
1L Hiand IV
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29. Which of the following statements related to 29,

30.

3L

,Mahatma Gandhi’s view on Satyagraha are
correct?
. The movement in South Africa was not
passive resistance. '
Il Ttis the weapon of the people, who are not
weak.
111, India could not militarily face Britain,
1V. Truth is the supreme dharma.

1. I, Iland I
2. LilandlV
3. I, Nland IV
4. Llland IV

Which of the following statements relating to the 30

‘Scorched Earth Policy’ in Java are correct?

1. The Dutch destroyed the saw mills.

I1. Teak logs were burt by the Dutch.

1L Trees were cut freely to meet war needs.

IV. The villagers were encouraged to expand
cultivation in the forest areas.

L. Tandli

2. L Itand I
3. land IV

4. 1,1 and IV

Which of the following statements about opium
cultivation in India during the British period are
correct? :
. The peasants could sell off the produce

freely.

I Local traders offered higher prices for
opium.

L. Opium production was increasing in

territories that were not under the British,
IV. Peasants were getting money advances from
the village headman to produce opium,

L. L landill
2. Llland LV
3. Lilland IV
4. I land 1V

13-22-SAT-ENG-TEL

3L

- DEYID Pyl e Ronodod & |

306 sjUS’ DB RowaHE?
. Sderdss® acgioo FaE D'GLo sk

L w6 D20 306" 08 savde 3086 ~ od |

2O 5D,
0L Q058  ersedso
eioBy 8.

V. :‘0683) AN S ago.

Lo 1,11 8ok 111
2. L1 &odain IV
3. 1L 1T Sodak IV
4. L 1T Sodaio IV

. oS ZrSrD DErardd PowoBod & dod

TEgRS’ DO DBELHA?
I &St 86 avogroms ordse B3,
Il &S 8 Songdsn o srdo S,

I obog - osvoromn d6yemdd Swrem

HOSDw.

DocSe=S ' Iiromro.
[P UL Y i
2. 1,1 obam It
3. [aoboin IV
4. LTI 6080 1V
2O 56 P08 2rE6EFS’ tozron Aol
Dowodod) & 06 TSRS’ D6 2HG?

L geven asydoom RS 0300 EBT0.

I, dorond DL Sgwn  Jdydcoen

wa')a-d).
I 2806 Fosdd pdwes® domon
S33 DAODST Godd.

IV, doiron a8y98 ) DY ved Boes |

A DR Fosrorre Fodartd,

1 LI &odomo HI
2. 1,11 So8osw 1V
3. 1 HE odow IV
4. I HE 8ok [V

P Jordotsorr )

32, Observe the given picture taken from New

Orleans, ltusirated London News, 1851.

32,

Loud A, 1851 ArgSeyairSy &
080D & & Derdy DEWousod.

What does the picture represent?

Mourning

Slave auction
Market place
Roadside gathering

Ao

. Why were Nghe An and Ha Tinh provinces called

“electrical fuses’ of Vietnam?

1. They were near to the capital city and were
centers of power.

2. They were among the poorest provinces and
had an old radical tradition.

3. They were very rich and had strong trade
links with the outer world.

4. They were at the borders and were in
conflicts with the neighbouring countries.

13
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34, Which of the following would be the part of the 34, 6% e Swos Seerans's oad

DOVET oLV Doerodod) & 208 T’ 6 -
odTryfion b&‘lpad%? 3
L 8y Rowys’ paew adnd seows’ dode |

sutroundings in a chawl/ in Bombay during the

colonial period?

I Large number of people living in shared
rooms,

Il A large population of people belonging to
depressed and lower classes.

I Streets and neighbourhood being used for a
variety of activities such as cooking,
washing and sleeping.

IV. Liquor shops and Akharas in any open spot.

I, Il and 11T
I [l and IV
Il and 11T

IL 1l and 1V

SN~

35. Which of the following statements are true in the
. context of Cricket in Victorian England?

I The rules of Cricket were made to favour
those who were described as “Players”.

1I. The wages of professionals were paid by
patronage or subscription or gate money.

HI. Cricket was viewed as a way of teaching
English  boys discipline, importance of
hierarchy and leadership qualities.

. IV. The rich who played were called amateurs,

1. L Hand I
2. LNland 1V
3. LITand IV
4. I, Mland IV
14

13-22-SAT-ENG-TEL

35,

R

mw.agmmom%oé‘amv

Sodard

oAt

aere” 265 B0 Daen B (B Ao

SO BAITENT ot T, )

.bm,u:mé-owmmm.ugw

&d5cio, Doiscio BOSE IO SYEOIUD
SEDAPHOSTE

.Wg&roé‘mdgomsw,am

aodid,

I, I Sosaso 111
I, TIT 0800 1V
1T o6akw 11

11, 1 08080 IV

T’ 06 06 LanRA? :

Lo "848 Dobddwosdenr e
DEYR08 evsrven droBemrs.

I 390pwe dsrodn Pop Jor dovween
dvmawwsvagoaa-&.

Il woferevoss 8565 goIam, gardurodd
Fovpjo. TAVESy witr '0od wf
arguru-:)oaa-d).

IV, et o R0) Sgred o g s

1. 1 I o6ako TH

2. LT S8asn IV

301 1 ook 1V

4. 10, 1T odasw 1V

b Y e B AR A S

36. Which of the following statements are true for
eighteenth century France?

1. There was much criticism of slavery.

1. The ‘National Assembly feared opposition
from businessmen who were dependant on
slave trade.

[1f. Plantation owners understood their freedom
as including the right to enslave Africans.

V. The Convention of 1791 legislated to free all
staves in the French overseas possessions,

Tand Il

I, lland IV
I and i

I, [l and IV

B

Which of the following statements are true in the
context of Liberals in Modera Europe?

1. ‘They opposed the uncontrolled power of
dynastic rulers.
Il. They wanted to safeguard the rights of
individuals against governments,
1. They argued for Independent judiciary.
IV. They believed in universal adult franchise
_ forall men and women with property.

37

v

I, I and 11
LNand IV
I, Il and IV
1L Hland IV

Lol ol bl

Directions: (Questions 38 - 40)

Read the statements and select the correct
ver from the given below.

Lg

Statement [ is true, Statement I1 is false,
Statement 1 is false, Statement I is true.
Both statements are true, and Statement 11
provides explanation to Statement 1.

4. Both  Statements are true  but
Statement [1 does not provides explanation
to Statement |,

tadk ht g

38, Statement I: The Bretton Woods System came
up during the post -World War Period,

Statement 11: The industrial nations had massive
growth of trade and incomes.
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39, Statement 1: Potatoes had been disct.)vered by

40.

41,

42

H

- the Europeans in the Americas.

Statement 1l: Poor people in Ireland  were

dependent on potatoes to escape starvation in the
19 century,

Statement I: The President of India cannot claim
the kind of direct mandate that the Prime Minister
of India can,

Statement Il A candidate contesting for the post
of President has to gain a majority of votes to be
elected as the President of India,

Ifm = n* < n where n is an
m’ - 2m is divisible by

20
2. 024
3. 30
4, 16

The valug of /97 x 98 x 99 % 100 + 1 is equal to

integer, then

1. 9901
2. 9891
3. 9301
4. 9701

Let Px) be a polynomial of degree 3 and
P(n)=% for n=1i,273,4. ﬁen the value of
P(5)is

1.

2
&

I

Wiw AN wn) - ©

a
J.

4.

If aand Bare the roots of the equation
3x” ~ Sx + 3=0, then the quadratic equation whose
roots are o’ and ap? is

I Sx+3=0
3 Byt 50
3 - Bx+3=0
3¢ -5x-3=0

PN -
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1. 20

2. 24

3. 30

4. 16
x98x99x100 +1

. AR,

9901

9891

9801
9701

43, 28 wnons P(x) clos), A4 3 ean for n=1,2,
1 )
3,4 0 Pn) = MP(S)M&»&. _
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45.

47,

el ol o

49, -

In village Madhubani 8 women and 12 girls can
paint a large mural in 10 hours. 6 women and 8
gitls can paint it in 14 ‘hows. The number of .
hours taken by 7 women and 14 girls to paint the

mural is

10
15
20
35

N -

Ifx = -3—*—‘/E and y = x', then y satisfies the
If x. 3 ;i
quadratic equation

1. Y =18p+1=0

2. P18 il=0

3 Y- 18y=1=0

4 Y +18y1=0

If tan®0 = 1 —¢°, then the value of
seeh + 1an’0 cosech is equal to

|- e} w
éZ - e:i;:

2-¢
gl -&y?
Let the volume of a solid sphere be
288 m.em’. A horizontal plane cuts the sphere at a
distance of 3 cm from the centre so that the ratio
of the curved surface areas of the two parts of the
spﬁere is 3:1. The total surface area of the bigger
part of the sphere (in om’) is

1. 36w

2. 1087
3. 1357w
4. l44n

A solid metallic cylinder of height 10 cm and
diameter 14 cm is melted to makeé two cones in
the proportion of their volumes as 3:4, keeping
the height 10 cm, what would be the percentage
increase in the flat surface area?

9
16
50
200

Dl o
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L ¥ -18p+1=0
2. ¥ +I8+1=0
3. Y- 18y-1=0
4. ¥ +18y-1=0

tan0 = 1 — &%, wowisd® sech + tan’0 cosecd
DenSEs HATBRORA.

1. (1-e}y?
2. 2-ey?
3. 2-e)"
4. (1-&)*"
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1. 36n

2, 108«

3. 135w
4. lddxw
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0., Each vertical face of square based vertical pillar
of height 3 m  has 7  equal,
semi-cylindrical surfaces in such a way that its
horizontal cross- section is as shown in the figure.

v

51

”w&mwaxso 3 D0, 238 poy 20

Mz,mm7wx@aw

. UHOLB Doy adfes. DS Srds Hosd
RAosS ES TRBRS® ErdRdSs,

If the radius of each semi circle is 10 cm, the
volume (in m’) of the pillar so designed (taking

2.,
K=~ )IS
7

I. 5.88
2. 6.14
3. 642
4. 72

Let ABCD be a square of side 20 cm, The area of
the square PQRS (in cm®) interior to ABCD,
shown in the figure is .

00 sy, gt 10 o, s
Q0o €8 FoEKY DIBBrTIRON

(am:mge‘)?(x=§)m:§'m.

L
2.
3.
4.

5.88
6.14
6.42
7.2

- S0P ABCD g ghade  20m0..
Doaws’ droudd Ddor ABCDE' do PQRS
BEUGHD PTG (5.200.05.) '

A 10 10 R
10 o
P A\
M 0
R
19 5 10
: S
D= o C
1. 60 1.6
2. 80 2. 80
3. 100 3. 100
4. 400 4, 400
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52.

S5,

A circle is inscribed in a right angled triangle of
perimeter 777 . Then the ratio of numerical values
of circumference of the circle to the area of the
right angled triangle is

4:7

3:7

2:7

117

It is kriown that area of a cyclic quadrilateral is
JGs = a)s b)Y — s =d)

where ab,cd arc the sidesand s=

S

atbtctd

2
If a circle can also be inscribed in the cyclic
quadrilateral then the area of this quadrilateral is

1. Jfaby +(cd)
2. Jabed
3. \f(ac)’ +(ac)y

2
4. J(ad) + (bc)

. Two circles, both of radii @ touch each other and

each of them touches internally a circle of radius
2 a . Then the radius of the circle which touches

all the three circles is

3. ~a
4. a

Let D be a point on the side BC of a triangle
ABC such that £ ADC = £ BAC. IfAC=21 em,

then the side of an equilateral triangle whose area -

is equal to the area of the rectangle with sides BC
and DC is ’

I 14x3"%
2, 42x3y”
3. l4x3h
4, 42x34
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2. Nabed

3. J(ac)* + (ac)’

4. \/(ad)’ +(bey
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56. Let ABC be a triangle with sidesa.b.c. Then
’ lengths of medians of the triangle formed by the
medians of the triangle are
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57. (x+ 1) is divided by (x ~ 1)". Then the value of
the remainder at x = 1 is

1. ~-16
2.0
3. 16
4. 32

s8. A circle passes through the vertices of a riangle ABC. If
e vertices are AC2, 5, B=2, =3), C(2, ~3) then the
centre of the crcle s

(0,0)
((URY)
2,1)
0,73)

Pl adl ol

59, If two dice are thrown together, the probability

that the difference of the numbers appearing on
them is a prime number

) —

I—-—lu.»olsmolw

W
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20
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S8 AC2, 5), B2, 3) O, 3) & 28 e ABC.

:g-wébg-um#@aganmbmi
DoAxD '

1. (0,0)

2. (0, 1)

3. (2,1

4, (0,-3)

NBE
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60. Observe the given data

61.

© 62,

60. & & 17«33-'6 Sgrogsin Hosod.

Class 6610 0-20 | 2040 | 4060 | 6080 | 80-100 | Total Swao
Frequency 17 b 32 S 19 120
BripigEn

If the above data has mean 50, then missing
frequencies f; and /> are respectively

28 and 24

24 and 28

28 and 30

30 and 28

b e T g

Directions: (Questions 61 - 62)
Suppose that the acceleration versus time graph

of a particle that starts from rest at t = 0 is as

shown in the figure. t :

DA HEYDy Srotandh HTHO 50 Gand,
AL V'owd FIRYTYD fi, fr o0 Sdodre

1. 28 odosn 24

24 Sobatn 28

28 2080w 30
30 Svdodn 28

Arassen: (e 61-62)

Pl

to= 0 JAWArdS wf wm) o,
POrOD 306D Sardgo S0t ASREH.

4 4
inm/s
sh
et » i
10 20 30 s
104 .

At what instant does the particle come to rest for
the first time?

I. Ss
2. 10s
3. 15s
4

. The particle never comes to rest

What is the total distance travelled by the particle
during 30 s?

Om
500 m
750 m
1000 m

e

21

- 13-22-SAT-ENG-TEL

61. &m0 JoyehE JopRwcsirT IV does?

L 5 Do
2. 10 2ot
3. 15 Dsogp
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Om

500m
750 m
1000 m
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63. An object of mass 2 kg is moving under the
action of a force which varies with time as shown
in the figure.

¥
(N)

|0-_.'...A.

63.2 4.0 @i S0 a8 SR w98 36§ S
2008 APDHLD SR G S3ES000.

=104

Which one of the following statements is correct

for the interval from 0 to 20s?

1. The momentum of the object decreases by
75 kg m/s.

2. The momentum of the objéct increases by
75 kg w/s. :

The momentum of the object increases by

125 kg m/s.

4. The change in'momentum cannot be found
as initial speed is unknown.

t‘)

64. Two cars *A’ and ‘B’ of same mass start from the

same location at the same time but on different
straight roads, Car ‘A’ travels on a road that has
greater angle of inclination with horizontal
compared to the road on which ‘B’ travels.
At any instant both cars ‘A’ and ‘B’ have the
same height above the starting point. If £y and Eg
are total energics of cars ‘A’ and ‘B’ respectively,
then

Ex<Eg

Er=Ey

Ea> Eg

Relation between. E, and Ey cannot be
decided based on given information.

Cab ol a i

-
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0 2009 20 hog DorHrdS Dowohod S0l
dgrgod’ 6 PPOGE

1 S%0 $csBe 75 kg ms £ deiiood.

2. Sy €ads 75 kg mis D 38

Bocdood. .
3. Stpdp sads 125 kg mS 0 HY
BorIA08.
4. Pootsdbo BDavDos  6BES'D
SCNE (DGOBTIN.

64. 2.8 @503 5BAS A’ S0 ‘B’ od s 28
paobos’ 28 Puo Med, DI drged
Lo saerow. ‘B! S® poirtded Fgod
DBy ‘A wh  parded B
Sarosser 28D Jeoren Ened God.

D Rosgyed’ drba A’ ddaw BT S

Doz Fo Gob) PDIFBWD AP’ GIYOW. .

AT Sodasn ‘B © Do Fhew Ex 00k By
L0NS, WYY -

1. Es<En

2. EA - E“

3. Ep>Eg

4. ady® darardo egrdorr By 0doin Eg

© DoLOR Y :)ga»oddm)

AN R

65. The gravitational potential energy difference per

unit mass between the surface of a planct and a
point 100 m above it is 1000 J/kg. How much
work is required to be done in moving a 5 kg
object 100 m on a slope at 30° to the horizontal

on this planet?.

I 12509
2. 2500
3. 4350J
4. 50003

Directions: (Questions 66 - 67)

Two identical objects A and B each of mass m
start moving along the same vertical line in
oppositg directions at the same instant. Object A
is dropped from rest from a height H above the
ground and object B is projected vertically
upward from the ground with speed u = 3¢ .

At what height above the ground do they collide?

. (/4)H
2. (I/2)H
3. @2B3)H
4. (3M4)H

23
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65. o8 GRS GIEIS G @D0BenDS Sod

e Srargigs 3083 Syodo Jdakn AP
100 oegs’ Dociosp® sd0dd 3§ 1000
kg rde 2Aredord$ 30°%0 Dedred 100

ey B60 5 S0 adpto S0P
£590ErDS8 9BVGRD DI Jos?

L 12503
25004
4350 )
5000 J

AW

Arsde: (oo 66 - 67)

&8 Do’ w8 DB DONG S;08¢
090" m @I Bot> OGP SDD
Schoenarow. R H 000D

A od S bdoos S
DEdaDESR. B 9D S0 S p8
U= fieh o8 Jui0d DS DH6LEB0A.

- Joded)  Jod WSS Tochd  SRoPHew

&8otron.

1. (1/4)H
(12)H
(23)H
(3/4) H

&~ n



67. After they collide, they stick to cach other. What 67, 0D &8%) o ©d 8 =S 248 é. « 69. A convex lens and a concave léns, each of focal 69, & 206 S ards > .

) : Do Joad? length 10 cm, are kept separated by a distance of S080, WS Lowrsd  Shdo =D
* isthe loss in their total encrgy? Sotron. 18 Jugo 435 S i 2 ¢m as shown in the figure. If the light is TDErco 10 Do.2. &od, w;ib :Z’o.‘.b
k4 ol
.0 .0 ) bneculenl fnfm left, the combinations of lenses will ErdosS® GodStto 20808, 5082
2. (\2)mgH 2. (W2)ymgH R \ MMD%&D%@ [Tot )
3. (3/2) mgH 3. (32)ymgH. - L Vo S
4. 2mgH 4. 2mgH
!
68. Given below are two different graphs of variation  68. 2.8  Sreonro DOlreld Boerdy o
i f the medium with ¢ ) )
of gédklty [or presaus) 0 ) - BrEE Foge (Do 1), oo AT 1. converging 1. %odsdno
position (Fig. 1) and with time (Fig. 2) as a wave . 2. diverging 2. wddome
) : 3. behaving like a glass slab 3. madodsd D90k
passes through the medium, @000 (Do 2) o dYEr Ry Joch Sar 4. converging or diverging depending on 4. Solsdor 62? mo P
‘ ; whether the lenses arc arranged as shown in ’
Dgrod’ 306 Ardosngron. k| the figure or in the reverse order. drdS Doorr susu DoyEDIDNE
' Tor 35088 DFIS' wN0\S D wLrdon
. o aderow. |
denaity h 70. In the circuit given, the ratio of work done by the 70, & $0& 65" A oba B FTo 6 ‘
ressu ) i ~ battery to maintain the current between pomt A 08 2podd 593 » |
e /\ £ and B 10 the work done for the whole circuit is ”’330"’:6‘355 264 DS ::Sg%; 6’1’6‘5 |
§ 3 = 5 i
. o 50\/ 160 Wzoo % (cm) : DBor™ Gotdod 4 %
. Tig. 1
density v I’
prc:::urc \ /\ /\ i

o \/ \y t (milliseconds)

: it 2 .3 17 ) I T
What will be the speed of the wave in the given @D\ Srdgod’ Sk Hrio Jod? 5 2 L . . , L
medium? : ‘ 13 A ‘5

‘ 1. 25 2oPsord : . ;
1. 25m/s § ) . L
2. S0m/s 2. 50 oHngogo _ i 12 ¥
3. 250mis 3. 250 20000t 4.1 4
4. 500 mfs 4. 500 2h0dogo

24 . ' - 3 2
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71. Magnetic field at the centre of a circular coil of

radius R carrying current i is B é and its
direction is given by right-hand thumb rule.
Magnetic field at the centre of a circular arc subtending an
. i {8 .
angle O (in degree) is Boo R (36_0*’7] and its
direction can be found using right hand rule.

Fig. 1

Consider two circular coils’ made of uniform
conductors as shown in figure 3 and 4. In figure 3
points C and D are diametrically opposite to each
other, and in figure 4 ZP0,Q = 120°,

Then magnetic fields e

i
Fig. 3

at both Oy and O; arc zero

at both O, and O, are non-zero
is zero at O, but non-zero at O,
is non-zero at Oy but zero at O;

B ow

26
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1. Do (diroddd) R agdrdorio,

DTE6 A (s-qu) dogod’ BV
- od!QoBotémboi» o oF
©HABD Sredden Nabdve oo
Ardoswdod. Sydo wrrod’ (o ALY 0d
280 0 Enod® Doy DFwe B o

(—9---) 6ot oD B HAD Argd)

eaaooo;rm $R08) deoy.

i

o
s

&, o Vi)
Fig. 2

3, 4 Dgros’ Brbodd v DAxS Twud 4

SAPHOBND Yoo 50 ShRRD

00%0osed. Dgo 36 €, D ¥ Dodoipew
LETDELS DORDET Gocr Ddo 480
ZPO,Q = 120°,

ea»éoom%ootg_

-

0,,0; Bockod G Brgo.

0,.,0; Bocold 3G o .

0, 3 3ETr 0;5¢ BPDOTE.
0, 3o air 0, 59 9o,

R

SRR e BRI R s AN

LRl

S EA R R O

g -
1
3
2
i
2
i 4
g
$

72. A pin AB of length 2 cm is kept on the axis of'a

convex lens between 18 ¢cm and 20 ¢m as shown
in figure. Focal length of convex lens is 10 cm.
Find magnification produced for the image of the

72 3gots" wrdodd Do 2 Do.Do.o Feops

AB &3 2rde 28 Doarste g0 ol 18,
20 20.0.0 B oswdod, Dord she
TDArdo 10 0., 2506 3SDowso. A7y sk
DBHSS?

pin.
AB
o
o
=
o

1. 083

2. 100

3V 1.25

4. 6.78

73. What is the current supplied by the battery in the

circuit shown below? Each resistance used in
circuit is of IkQ and potential difference

2w

0.83
i.00
1.25
6.78

‘n-aéoamaoaaw&mm

M@M?mwéé‘mmaaga
dFdgo Dewd 1k Fdogio oo Fge
DIR0 Vag = 8V 1 Gotwod. :

PN
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* Vag =8V
;\i‘
2. 15mA
3. 987mA
4. ImA

64 mA
IS mA
9.87 mA
I mA

B -



74, Read the following statements.
Statement 1: Sodium metal reacts violently with
water to produce heat and fire.

Statement [I: Potassium metal reacts violently
with water to form potassium hydroxide and
hydrogen gas.

Select the correct answer from the options given
below.

Statement [ is true, Statement Il is false.
Statement 1 is false, Statement If is true,

Lo o

Both statcments are true, and Statement 1f
provides explanation to Statement 1.

4, Both Statements are true but Statement 11
does not provides explanation to Statement 1.

You are provided with 18 g cach of Oy, Ny, CHs
and H,0. Which of the following is the correct
decreasing order of number of atoms present in
these samples?

75.

. CHy>H0>Ny> 0,
2. 0;>N;>H,0>CHy
3. CH:>N;> 0> H,0
4. Np>H;0>0,>CHy

76. Manya, Kartik, Gurnoor and Sheena had arranged
the ions F~, Na', O%, and Mg™* in decreasing

orders of their ionic radii.

Manya -~ 02>M >F > Na'

Kartik — g'>Na »Oh>F

Gumoor - OF >F >Na'>Mg"
¥ >Na' > 0" >Mg”

Sheena  ~

Who had provided the correct order of their
decreasing ionic radii?

1. Manya
2. Kartik
3. Gurnoor
4. Sheena

28
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74.

78.

76.

& 300 TEGLR BEDG.

g I Faabve S'iro DBE 8Y wgy 20D
63D, ©M) D 6dyJ Sed.

o 1i: Terdiono S'tro DT dhuscy abd
Ferbabve  FEHE oo Ead
SEPHOR GBSy BR0od.

& 300 HEYD) DDV ol VYD BB

DodE Babodt.

1. argge | 086, s Il 62y

2. orsgol SRy, spe 11 0RO

3, Goth s z:gaamom g 1,
g0 | § DdOH ARB.

4. Botd SrsegRn JID. s-ba»s;oléas;o ,

13, Dades @B,

3:05) u8)8),8 18 rawe Sy Oz, Ny, CH.
sooww  HO0 midgde 20080, &

Asroost S0 00D wwms‘

DosrmpY Powy wETH g0d" %
2B6? ; ij
I. CHy> 0> N> 0, g

2. 0;>N;> H;0>CHy
3. CH‘>N2>02>H10 .
4. Ny > H;0 > 0;> CH;
Sy, 508, o) Moao 1D o
g BoreaoT walrn 08" F, |
Na', OF, &80 Mg™ ombo)(san-o) &%
Dsdo,

ardy - 0¥ > Mgt > F > Na'
=88 - Mg >Na’>02.>F'
'”“"l“ 0¥ >F >Na' >Mg

g
i
3
3
&

SR

~ F>Na' >0">Mg"

eoirmo TRrgives ws8on §d008* D0S n )

Mwaa&owad)" \’
Loy i
3. w6
4. b

PRI

77. An organic compound A on heating with
concentrated H2SOs gave product B and on
warming with alkaline KMnO, gave edmpound
C. Compound A on heating with compound C in
presence HS0;  formed
compound D, which has fruity smell,

Identify the compounds A, B, C and D:

of  concentrated

1. A= Alcohol, B=Carboxylic acid,
C = Alkene, D = Ester

2. A=Carboxylic acid, B = Ester,
€ = Alkene, D =Alcohol

wa

A~ Alcohol, B = Alkene,
C = Carboxylic acid, D = Ester

4. A= Alkene, B = Alcohol, C = Ester,
D = Carboxylic acid

- 78. Match List I (Mixture) and List !l (Type) with the
list [Il (Example) and select the correct answer
from the corfibinations given below:

List ¥ List I1 (Type) List 11
(Mixture) (Example)
A. Liquid in l. Emulsion | 1. Mist
2as 1.
B. Liquidin | 2- Aerosol Sponge
liquid If}. Face
C. Gasin 3. Foam cream
solid '
4. Gel IV. Butter
!’. A-3-il, B-2-HI, C4-1V
2. A2, B-l-lll, C-3-11
3. A1, B-2-1I, C-3-1
4o ALl Bed-l,  C2-101
29
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77./\63&6960&7\)&;&%“”&3

BABDRDYD B 6D @ondesnn adyda.
0an w6 KMnO, & de Shatpyo C &
oo O me HSO, dmgdes’
BRI D eod BB @D, @D )
o Ry¢0 DO TR $D6 636
626° A, B, C Sudaty D adyueswesy
gocsods:
I A=, B= 2538 \05 sspdw,
C=ed) S, D=8
2. A=s83\D8 uaw, B = 96,
C"vb(,5.D-uuz,m»
3 A=ey e, B=uh) s,
C fs-a‘aébbé epaw, D~ 36
4. A=uB)S, B = wu e, C = 38,
D=s’8bébb§uw

78 pdor 1 (Dogsodw) Moot 11 (6s3m) o

28900 2doe Il (aovirdn) & 2035, Hrsd

DT - Dodlrdsvwes’ AFD BTN
Qobd Boked.

Do 1 ado 11 ru-ovm
'

(Dogodw) {ogaw) {aorirdn)
A 5 L 208 1. :ng
P 2. DBFS(rd | (Do)

Aeod6) 1L 3oz
B.

605 g0 3. &6 i 554
Cavdages’ | (9an) IV. wyh
) 4. &S (2abm) (>%y)
l. A-3-1, B-2-lll, C-4-IV
2. A-2-l, B-l-IH, C-3-1
3. A-1-MlI, B-2-1l, C-3-1
4. A-1-I1, B-4d,  C-2-1H



79, Which of the following set of reactions will NQT

80.

occur?

1L

1L

P i s

Two organic compounds ‘A’ and ‘B’

MgSO0y (aq) + Fe(s) —>FeS04 (aq)

+ Mg (s)
CuSO0; (aq) + Fe(s) = FeSO4 (aq)
+Cu(s) :
MgSOs4 (aq) + Cu(s) = CuSOs (aq)
+Mg (s)

. CuSOj4 (aq) + Zn(s) —> 7ZnS04 (aq)

+Cu(s)
| and 11
Nand IV
I, 1 and 11
{1, 11t and IV

react with

sodium metal and both produce the same gas X
but with sodium hydrogen carbonate only
compound B reacts to give a gas Y. Identify
‘A%, B, X and Y

4

A = Ethylene, B = Ethy! Alcohol,
X = Carbon dioxide, Y = Hydrogen

A = Ethyl Alcohol, B = Acetic acid,
X = Hydrogen, Y = Carbon dioxide

A = Methyl alcohol, B = Ethyl alcohol, X =
Hydrogen, Y = Carbon dioxide

A = Acetic acid, B = Formic acid,
X = Carbon dioxide, Y = Hydrogen

30
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80.

81. Consider the elements A, B, C and D with atomic
aumbers 11, 12, 16 and 17, respectively. Which

SESRNE TSR RS

A3 avbod.
: among the following statements regarding these
) elements are correct?
1. MgSO4{aq) + Fe(s) —»FeSOs (aq) I “fhe element C will gain electron more easily
+Mg (s) 5 than element D.
I CuSO; (aq)+ Fe(s) > FeSOs(a@) :
+Cu (s) {l. The ciement B tends to lose eiectron more
ily than C.
1. MgSO; (aq) + Cu(s) > CuSOs (aq) N
+ Mg (s) [if, The oxide of A will be least basic while that
V. CuSO;4 (aq) + Zn(s) = ZnS0s (aq) of D will be most basic.
+
Cu(s) _ IV. The energy required to remove an electron
Lol {1 from outermost shell from A will be
08030 minimum while that from - D will .be
2. 1l &v8asn IV maximam.
3.1, 1 Sodako d Il
) 1. Tand llonly
4. 11, 111 odos IV 2. Tand IV only
37 - Il and LH only
4. Hand IV only
A7 a0 5B’ b Botd go_a.-a aa;ya:«nwg 82. The following observations are given for four
Maowo Serand ©oy 26D, X oS o8 metals: .
I, * Metal H does not react with dilute HCI,

s GOYD BPow. =D, ‘B’ o3 5635
wSowssw Yaave PEBD 836 & oo i
oD Y 0 okt FpH00. DS "

AT, BT, X 00080 Y 0 (oSl

Metal K reacts with warm water.
Metal L does not react with water but

displaces metal H from its aqueous salt
solution.

IV. Metal M reacts with cold water.

L A=a6DS, B =g eu)rs,
_ X=56y® awg_)é.,\(fggab
2 A=m§6wb‘tﬁé,8=ab6§e.})a»,

Choose the correct decreasing order of reactivity
of these metals amongst the following:

X=g§a§,Y=s'bec‘.w§b& i M>L>H>K

2 2. K>M>H>
3, Asm@éwbsm,ls-——gééwl;o‘é, 3 M>K>L>:;
3 4. L>H>K>M

X = pEad, Y = 560 Gorgye
4. B e, B = 3OS e,
X = 53,5 asrgyh, ¥ = TEad

AR A
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81. A, B, € 080w D o duroste aoerr 11, 12,

82,

16 208cin 17 Dedrm vowjei SBh amryon. &
SPUT U Dowodod HHdD TERS’ DO WPRA?
I UeamrosoSoQCoawoSoaugb
1. Ced dwrose Sobd D od dwrege Jugd &

9g8dor £6' a0l .

. D o3 6fyf o3 ddyd woerdy, A od

IV. A ©d soros erorEsg (ouermost shell)
A0d .)03.5 GofioreDd vsdsindly 83
S0go TR, D od urusdd o #d
©SdG0.

1 1000w i argd

2. 1sobain IV Srad

3. 1 Sobcko 11l drgd

4. 11 d0dcn IV argde

T  S'TB0wD  domoded & éoc

DOIOB ASAID.

L H ed Sdn das HO & oo

I e,

[ 32 K wd S'raw sop $0a

Gotnod.

[ L od oo 988 9o $8n eocs

Yooz, H od S'ordw, odn grondw -

ol FHPoB BoBRB.

V.M ed ot sud D88 oo €9

Gotuod.

d-t?c-a»oad;égoué aéoabéba
g Al

08" 23D Vst gArd) Jods dabod.

M>L>H>K
K>M>H>L
M>K>L>H
L>H>K>M

L -



83, Match chemical reactions given in the List [ with

" the type of chemical reactions given in List I and

select the correct answer using the options given

83. e 1 & Docododd GAaDIE SEE, |

$
%
3

&
*

et

=

e 11 & Jowdodd CIaE édso

seanes 2a0dd, 2006 DED) a-:).)s-o

below:
oo ©3 DIFTII) Jobds Sabed. :
|
List I List I o | wdoell
(Chemical Reactions) (Type of > —— v
' Chemical ( _s sogeo) | s
Reactions) sg0ew)
A Formation of NH; | I. Decomposition oD g
from Na and Ha A Ny 00080 H, oL S ’
B. Calcination of zinc Bo0& NH; Doyt
carbonate 11. Double 11. Berdgoso
C. Reaction of aqueous | . B. 208 ST S S
o A isplacement N
BaCl, solution with o ‘ 1
dilute H,SO4 ¥ 1), ReAIrAND
D. Rancidity of oils Iil. Combination C. BaCl, 20graadn ' !
e H,S0, & ady | 1V- #8356
IV. Redox D. sisoodon oo | SAPISTED
V. Frisgioto

V. Displacement

1. AL B-v, C-HL, DIV
2. A-llL B-IV, C-V, D
3. A-IV, B-IL, C-V, Dl

4. AL B, C-HL DAV

13.22-SAT-ENG-TEL
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1. A, BV, C-lIL DIV
2. AAIL BV, C-V, D
3. AV, Bl C-V, D-1

4. AL Bl C-II, DIV

- 322-SAT-ENG-TEL,

84. You are vaided with aqueous solutions of three

salts ~ A, B and C, 2-3 drops of blue litmus

solution, red litmus solution, and phenolphthalein

were added to each of these solution in separate
experiments. The change in colours of different
indicators were recorded in the following table:

Sample | With With Red [With |
Blue Litmus | Phenolph
Litmus  |Solution | thalein
Solution Solution

A No No No
Change |Change |Change

B Turns Red | No No

’ Change | Change

C . [No Turns blue | Turns pink
Change

On the basis of above observations, identi
. ident )
and C_ from the following options: AE

. A=NIH,CI, B =NaCl, C = CH,COONa
2. A =NHCI, B = CH;COONa, C = NaCl
3. A= NaCl, B =NH,CI, C = CH,COONa
4. A= .CH;COONa, B = NH,CI, C = NaCl

33

84. oo A, B avboin € @b S odneo

EPOnAV FDWAEDD. B8 ESHINI0 2-3
EInd0 oy DITHES  GrIRHNLR,
I PAFIFSy Sorr SUdEo BOACH,
De3e5° DA\

NS DDG Aty $od &
Dots63AHS. e

SSrS S0 BOS [SFVeS [55R068

- grdnaws’ | orsnsnd' | gronsnd
3Py 50
Js 3 7n0) I

L RTC R FYTON
Sgoss |G P
27036

¢ Py 0 doeord
. ogos'd | sgaw

Q030 [ (Def) 0
Jr600

& 2O BTG & Sob DTS’ A,
B, 808010 € hgossod: '

1. A=NHCl, B=NaCl, C = CH;COONa
2. A=NHCL B = CH;COONa, C = NaCl
3. A= NaCl, B=NH,CI, C = CH:COONa
4. A= CH;COONa; B = NH,Cl, C = NaCl



85.

86.

Match List 1 (Mixture to be Separated) with the
List It (Method Used ) and select the correct

answer using the options given below

List I List 1
(Mixture to be (Method Used)

Separated)

1. Chromatography
1. Sublimation

. Liquid N;
and liquid O,

. Red and Blue .
inks {11, Fractional

A

B

C. Solution of Distillation
“NaCl in water

D. Naphthalene

and NaCl

1V. Evaporation
V. Crystallisation

. A-I, B=Ill, C-IV, D=V
2. A1, B-V, C~ll, D-1IV
3. A~ B-1, C-1V, D-1I
4, A-IlI, B=1v, C=~1, D=1
Select the correct set of statements regarding
change in properties, as we move down the

second group in periodic table.

I.  Alomic size increases.
11 Electro negativity increases.
HI. “Tendency to loose clectrons increases.

IV. Valency remains same.

I, 11 and U
1, U and [V
I, lland 1V

i, Mland IV

E il o

34

13-22-SAT-ENG-TEL

85. Do | (Sdabodobs Jgdvaw) arder 1l
(8ortod DPa) oA e 3D, 9D
awd & 306 000 Ddyse ot
odrg dodod:.

wdor | (Soded | wder 1 (edirhod
BB Dysodw) 039)

1. 3g0wd 560
(Faos'ad)
1. @orydd 060 (38

R TR AR ooy

:]'
¥
i
%

1. @xire Nz o000
AadrH O

2. oy oA H
Tt dhonw)

3. NaCl zogsnsy | 11 D8)ixd darogd 3

4. 30bS andam IV, edohgo <8

NaCl (d88%)

: V. wyidon 030

LA-1, B-I, C-IV, D~V §

2A-M, B-V, C-Ii D=V

A=, B-1, C-=1V, D=1 4

4. A-1l, B-IV, C-1, D-li '
86. GroHdd dwuse DS Bocd

ST oRodEDD LIRSS D Aok

208 Di 269 SIS DS’ BEED &

ads DY) TR oo’ ©gd D ';:

Joné Saboed. 3

I 6 DBErR0 DEGES

1l za»a:)d:sa-ogébddco.

Il dugrow Ee'yoh o Hercco.

1V. %oc3radansd (S§80y) o Gocco,

L 1, 1 0B 111

2,11, 1t Sodasn (V
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87. Which of the following options containing

formula, bonding and nature of aqueous solution
(in the same order ) is correct for the compound

. formed by two elements A and B having atomic

numbers 1 and 17, respectively?

1. AB, lonic, Acidic
2. AB, lonic, Basic
3. AB. Covalent, Acidic

4. AB,, Covalent, Neutral
Choose one of the following alternative
statements given below which correctly explains

the process of osmosis.

I. Movement of water from regions of
concentrated to dilute solutions.

" 2. The passage of solute from weak solution to

strong  solution through a selectively-
permeable membrane.

3. A passive transport of a solvent through &
selectively-permeable  membrane from a
region of low solute concentration 1o a
region of high solute concentration,

4. An energy-dependent transport of a solvent
through a selectively-permeable membrane
from a region of low solute concentration to
aregion of high solute concentration.
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89, Inmeiosis, each of the four daughter cellshasone  89. 5686t DPsdS’ :)cbc'.; 20 T
bygrrod’, 0O w8 DY dorol’ w8 S

Fard'aow Do, Labssn JEwd

02, Lichens arc sensitive to certain air poliutants and

92. g88w §I) Osu ooty sendrp
are often replaced by other plants, From the given

iﬁéﬁﬁoﬂ' c’\))oboﬁx) BUd 206 a»sbw gss

. set of chromosomes. Due to randomness of

process of chromosome separation in meiosis,

9.

large number of chromosome combinations can

DAHS" awrydsorr Earddne Do edbo

Sroor, was  Farsdne Py vRE

options choose the best combination of sensitivity
and replacement of lichens,

Fody B03Fow. doo wxEAS oS’
TOWS AL Dyoded oA GEDU™

form gametes. How many such chromosome ;
b‘E e Y e badmren DBy, ArdmdSt Crossing ~ . 3 DAL DIV o0,
combinations in the gametes fxrc possible in case over (+hob - £36) GG @tred DD 1. Sulphurdioxide and moss A )
of humans, assuming there is 10 crossing-over Sarsane HIYS 0 Daseres Doy snod 2. Sulphur dioxide and algae - Ry See SO v
taking place? 0gorpa? ' 3. Carbon dioside and ferns 2 P05 guB\E Moo e
L2 1L ) 4. Sulphur dioxide and grass 3. Sy Tl Sdabn 6y B
2. 2 2. 2% 3 4. Denb BeBE 20600
:;' g‘:' i g: 3 93, A student was performing an cxperiment to 93 aog::b- 2 (-
i : . understand the enzyme-substrate reaction. The | BB ot 26 20 S

Sclerenchyma in plants is an example of simple
permanent tissue comprising of two types of
cells, sclereids and fibres. Why these cells are
functionally important to ‘the plants even after

90, awg s’ S sogmroe (0 DOV TIS ;

dnareod® Bodo G0 STed $BN Goked.
o, HBE o oo (bavaro) fibres,
g e 300 wdosbo Eré D S6RO

student’ m;asurcd the formation of coloured
product using a colorimeter. The student plotted
ghc graph below which shows the reaction rate
versus the substrate concentration.

VAo SRR 0. &
drgh Fob Db wirabed’ DoyAs ot
So.‘)ﬁ?;cb. SO, 308 Qéoé‘:) dur
dsso © O Ay mésm
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they die? , o a' > T ....................
Bereoy? 4 J t
Choose the correct alternative from the options & 208 HHD) Mm.lw 2000 ; g o
given below. Hargrde Jobs Babged. L § g
h ; 1
. Both are thin walled cells lacking 1. Boto G0 grroh Hodd Faw 186, 3
_intercellular spaces. derotd wad S'Hotu. - substrate concentration —
v ‘ SubStraie concentratior
2. Walls in both the types of cells are thick and 2. Boto 65w §me Hicies Modom &o& Following  interpretati . o
-~ cutinized. ©585 6 6B Goto. saogte” - Peedkions were ‘Iawm Ty the Derg & docs AdrDeselIrgargo S,
3. Bory Gsvw Sewer Ficen doodor™ God, - ‘ A ey PeSHES s
3. Walls in both the cell types are thick and ¥ A. 'The higher concentration of substrate acts as R » 2085 & e3Fcom
usually lignified. Foroeorr D). SOG:;»C‘.)&). : an enzyme inhibitor, DDeSatg 0.
4. Both the cells arc used for conducting 4. Boto G5 SiFe, MRS Tddo 3 o B. 96 SmonE 3 .
solutes and providing strength to the plant. S0 Saind 208, 34D BN, B. lf;:m “lzﬁm&id:! s(;\urve. with sharp transition bdomaoémmor:e:: ::Ef‘. 0:? :
. o _ : ! ( igh reaction rates over th 2
1. Which onc of the following organisms has a  91. 308 263y Spos® D adcbot FAYS” increasing substrate concentration. e. DO Sz DO § ¥
cellular respiratory pigment dissolved in plasma ' C. The curve reaches a pl D DO To.
and is alsopa ;gdms carnivore andpshows _gHOAS Eiposc TP Do 480 DosLy further increase Wit:hp'dteau ?"d floek 1ot C. 08> QERES e DD Jorvor
s in ; ‘
matriphagy? Arodafs Hoain argod oo SHDOW. concentrations due to sal:m:gofs‘e‘?z;?r:g MQSOgovM» ! v
(892 ol dDYeD). ch with the substrate. . O g0, dedr
“hoose which of the interpretations of the graph Bab, Siges 00 IS,
J. Scorpion 1. dw are correct, graph &
. : LN CELECRY] Igargo e,
L2 Cockroach 2. SQOS I, A and B
3. Earthworm 3. oddan 2. AandC I. AdodaswB
4. Sea cucumber % 3. Bonly 2. AddaoC
. 4. H HHo0b 3 Baw
5 4. B and C - Q&)
i 4. B odain C
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o4, Glucose is the prime source of energy in our
body. However, it is stored in the form of
glycogen in the muscle and liver of animals and
in the form of starch in plants. As a result, every
time a cell requires glucose, it must hydrolyze
glycogen which is an energy consuming process.
Why does the cell store glycogen instead of
glucose in free form? ;

1. Glycogen is more compact and more
hydrophilic.

2. Storage of glucose in
consume more ATP. .

3. Glucose in the free form creates more
osmotic pressure.

4. Glucose is highly reactive molecule hence
storing in the free form can result in
unwanted reactions in the cells.

free form will

95, The figure given below is designed to show yeast

respiration. In one of the tubes, there is yeast

_suspension in glucose solution. This solution was

boiled before yeast was added to it. Which one of

the following is the possible reason for boiling of
sugar solution? - )

Oil
Glucose
+

veast
suspension
. To ensure aerobic fermentation.
2. To provide the initial warmth for the yeast to
. become active,
3, To remove the dissolved oxygen and carbon

dioxide from the solution.
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4. To remove dissolved carbon dioxide and |

trap the oxygen from the atmosphere.
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Suddenly it was attacked by a dog. The squirrel

rushed to the tree immediately and saved itself

from the dangerous attack. What immediate

changes are most likely to have taken place in the

body of the squirrel?

A. Blood flows to the stomach for rapid
digestion.

B. Adrenalin was secreted in the blood by the
adrenat glands.

(. Heart beat becomes faster and pumps more
blood so that muscles get more oxygen.

D. Adrenocorticotropic hormone is secreted in
the blood and blood flows more st the

- vital organs. '

Select the correct combination of aptions given

below:

I. AandB_

2. AandC

3. BandT

4. Cand D

. Stimulus from the environment is detected by the .

nerve cells. The stimulus acquired is transmitted
in the form of clectrical impulse. From the
options given below choose the correct scheme
showing the direction in which the nerve impulse

travels. (Arrows shows the direction of impulse
flow).

1%2._' -3 -
3}&;:%,_“ o
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96, A squirrel Was cating a fruit on the ground. 96, &8 288 BoME Doty Bot) &
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98. “Double fertilization” is a complex mechanism of

flowering plants that is also unique o
angiosperms. Choose the most appropriate
statement from the options listed below that
explains this phenomenon.

1. Fertilization in two flowers of the same
plant forming endosperms.

2. Two male gametes fertilize two eggs inside

the ovule as a result the ovary gives rise t0

bigger fruits. X

Two fertilizations occur in a flower--one

fertilization results in the' formation of a

diploid zygote and the second fertilization

results in the formation of a triploid

endosperm.

4. Two pollen grains sending two pollen tubes
inside the ovary, resulting in the formation
of two seeds inside the fruit. )

w

. Itis generally observed that malaria is rampant in
areas where construction work and/or stagnant
water are usually seen. Plasmodium species are
known to cause malaria. The parasite when
injected by the mosquito into the human blood
stream goes through specific life cycle stages.
Seleet from below the correct sequence of stages.

1. Mosquito (sporozoites) —> human liver
(merozoites) ~»human RBC
{gametes) —mosquito
(zygote-00Cyst-sporozoites)

2. Mosquito (merozoites) —>human RBC
(gametes) ~> human liver (sporozoites) —>
Mosquito
(0ocyst-—zygote—sporozoites)

3. Mosquito (merozoites) ~» human liver
(sporozoites) —»human RBC (gametes) =
mosquoito
(00cyst—zygote—sporozoites)

4. Mosquito (sporozoites) > human liver
(sporozoites) —> human RBC
(merozoites) —> MOSquUite
(zygote—00CySt-=SpOrozoites)

13-22-SAT-ENG-TEL

99, Jogbolr v
Sobosw dor Depddes aFy Rood’ daySm

98. 20,0 Herers’, pinod S BrOLALIR0

w8 33 vicH. & Qichay DeBE0D DOD
gy Sob RHWED O] Aol odE
Aasdn.

1. 2 20950 Jo VW dubsdno O 3

Ooyeo Dadfago.

Boty X Hudere, Duted” a3) Socd
k) Hadmro  (womevieggsiy  Dodddno
Fabts Sy, worlaboded D D

2.

Bogg.
3. 2pips’ Bod DodsEIrD 2L, ~ T

), Debsono B %&%@oﬁ&. Bocd
Subdcne dy gubRos Dalfiago Moy,
4 Bod DTNE  Broipen,  GomrIaE’d

Q0> Boct> DIE TPgen, Jureor Tocd

Deres o Dodhd Do,

omzﬁ-&wsﬁgﬂ@og

oo

L 8 (DBarontien) - Ardd sSabdD
(uBaroatien) —» ArSDHY HEgErFed
(Daseren) - B
{Roosg Dao - douswg Hub'do -

o\ Faraato)

2. 8 (DoBarantien) - Ard HogSTen
(Dadrrw) —> Sr39d s*Saban
(Rooadg D680 —woatng Dao—

&\ Baroneen)

3, B (B wontun) - ardpd seEanin ;

(3 Baranse) - drpD HogSrTe
(Dasre) > B
(fo0o0g Do Rooing Do — :

4. 85 (@\BarontSe) - ardpd sPabsn i

(s'bsm») - Sr&PD AGEYSTTL 4
(B aratien) —» B ' ¥
(2008534 v —— Rook0g Hubo— %

N

-
SRR

100. A plant with red coloured flowers s crossed with

a plant having white flowers. The red and white
colour of the flower is controlled by a single
gene. Red is dominant over white. The FI
progeny is self-pollinated and the flower colour
in F2 is observed.

Given the above information, what is the
expected phenotypic ratio of plants with different
fower colours?

Alf plants with red flowers.

Red: white in the ratio of 3:1.
Pink: white in the ratio of 3:1.
Red: pink: white in a ratio of 1:2:1.
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